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@) sin(a + p) =sinacos f + cosasin S
(2)sin(a — B) =sina cos f —cosasin S
(3)cos(a — ) = cosa cos f +sinasin S
(4)cos(a + B) =cosacos f—sinasin S

(5)tan(ct + ) = tana + tan g
l1-tanatan g
(6)tan(ar — ) = tana —tan g
l+tanaotan g

#ifl 1
EH sin(e + &) xsinf(@ — & )=sin"a —sin’ B =cos’ & —cos’ & °
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cos(a@ + B ) xcos(a@ — & )=cos’a —sin’ 8 =cos’ B —sin’a °
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2sina -cos B =sin(a + B) +sin(a — )
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+B o= F
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sina +sin B =2sin > -COS >
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E5HH C FEAABCH > tand +tanB+tanC=tanAtanAanC
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wac gy A=A =8 Al tanetan Ftan 77 Zi/ME= ?
B2 =N A Ry (TR = A ?

Ans:3v3 =



